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Part— A

GENERAL [NTELL&(SE

Directions : In Questions No. 1 to 3, a
series is given, with one term missing.
Choose the correct altemaﬁvegéf&m the
given ones that will complE the Serigs.!
1. AKU,FPZ ?, PZJ, UEQ, ZJT

(A) JUE (B) KVE(C) KUE(D)JVE
2. MRS, LTU, KVW,?

(A) TOR (B) MOP

(C) JXY (D) CDE
3. B,GK,N,?

A)P B) O C)H |
DirecEiﬁE:s - ]11( (guestimgs }Nu. SD %a 10,

select the missing number from the given
responses.
, 0,3

4. 1944,108, 2
(A)16 (B)I8 (C)11
5. 251(12) 107
381(2)125
(A) 14 (B)24
6. 354 (110) 526
297 (?) 631

(D)12

(C)11 (D)16

(A) 128 (B) 116 (C) 135 ;\1}}:1’51?'3-'_.' \
.? _

7. 0,7,26,63, 7
(A) 125 (B) 126 (C)217 (D)124
8. & 10 12

5 7 .9

12 .14 7

(A)di(B)yl 5.(C) 18 (D) 17
9. 449 24

3005 OF

2l

(A)9 (B)6 (O)15 (D)4
10. 2,5,10, 19, 36,7

(A)70 (B)71 (C)68 (D)69

11. If2=5,4=18, 6 =39, 8 =68, then
10=2

%AJ 100 (B) 105 (C) 110 (D)116
[ the day lo day-after-tomorrow 1s
Sunday, which day was day-before-

yesterday ?
(B) Wednesday

EA} Thursday
C) Tuesday (D) Monday

12.

Ll

W’f REASONING

13. Asha drives 6 km towards West and
turns to the right and drives 3 km.
Then, she turns again and drives
towards right hand and drives 6 km.
How far is she from her starting point ?
In which direction would she be driving 7

() Shmbst (Bl 21 Vo

14. Fivecoaches PL R M O are in a row.

R is to the right of M and left of P. L is
to the right of P an J&xg D, Which
coach is in the mid "

: N 4
(AP (B)L 8 1'@;, (D)O
Directions: In QuestionstiNo. 13 to 17,
from the given alternatives select the word
which cannotbe formed using the letters of
the eiyem word B
150 INVESTIGATION

£ (AYY INSTIGATION
B)

GESTATION
(C) ' VEST
(D) STIGMA

16. SANCTION

(A) ACTION  (B)
(C) NOTION (D)

17. RESEARCH
(A) SEARCH (B) REACH
(C) HEAR (D) READ

18. If each of the letter in the Enghsh
alphabet is assigned odd numerical
value beginning coding A=1,B =3
& so on, what will be the total value of
the letter of the word ‘SNAKE" ?
(A)95 (B) 105 (C) 115 (D)113

19. If DFIN is coded as WURM, then

PRM%{E’HP{I]SE coded zg SQNP

}C; SQNL %D% TRPO

20. If RUMOUR can be written as
QSJKPL, then how HERMIT can be

NATION
NION

written 7
(A) GEPKHR (B) GCOIDN
(C) GCPIDM (D) GCPIEN

SPACE FOR ROUGH WORK
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2. H < stands‘for addition, ‘4’ stands Directions : In Questions No. 27 to 30,
for ) SL:lth':a{:tan, *+"  stands for select the related word/number from the
multiplication and ‘x’ stands for given' alternatives.
division, then which one of the :
fnﬁl;maggg equations is correct 7, 27. A+B+Y+Z=54

Xx5+20=-27+7=120 C+D+W+X=7?
EB 25+5x20-27+-7=128 ‘5
(©) 25+3-20+27%7=095 (A)45 (B)54 (C)s6 (D)s2
(D) 25-5+20x%x27+7=100 28. Petrology : Rocks : : Palagentology : ?

22. [n[ the hfﬂlln];ving question, some (A) Birds (B)y, Animals
relationship have been expressed C) Fossils (D) Soil
through symbols which are © P \ ¢ -
x=greater than 0 = not less than 29, Melt : Liquid : : Fre%. 7
+=1ess than b =not greater than (A)  Crysial ’ Sold
+ = equal to _ d’. = Not equal to, (C) lec . ‘*?Iﬁ)} Evaporate
then A 6 B x C implies e W T 4
& Adc By Bac AA) 245 ®)34 ()44 (D)54

23. If 63 — 30 = 30, 72 — 10 = 40, then 31, Which™ one 'set of letters when
21 —60="2 , sequtentially placed at the gaps in the
(A)50 (B)35 ()15 (D)20 " _given letter series shall complete it ?

24. ?ri}ra stﬂnsswalkin in the aﬂcm%g:i.. . baabaa__aa__
acing the Sun. After some time; she | ; '
turned to the right. Later again, 1#; ¥ | (A) hb.a : () Basb
tumed to her left and again alse Tefl. (€) aabb (D) abab

| 1 e TTT H y T}
EM wh;tagimcunn }SI{IE}:; '“;;'J;‘lh g Directions : In Questions No. 32 to 35,
North (D) - South find the odd word/letters/number pair from
iy ] the given alternatives. .

25. A direetion pole was situated on the
crossing. Due to an agerdent, the pole 32. (A) Fervent (B) Enthusiastic
turned an_sueh a manner that the C)  Apatheti D
pqm:ﬁr t'F.'.-"l:'u{_:h ;\'usl SE{;wtng Eﬁlsl ( ) pathetic ( ]' Ardent
startcd. . showmg South. One traveller :
‘went to the wrong dircction thinking it 0w TAG (B) OFF
to b’i—ﬂﬁﬂsl._% what direction actually (C) ATT (D) EPP
was he travelhng ? :
(C)"West (D) North (C) 64-78 (D) 103 -169

26. The digits are given as below : 35. (A) Radio (B) Television
562, 871, 438, 753 C) Transist D
If the position of the first and the third (C) Transistor (D) Tube
digits of each of the numbers are 36. Find th b hi i
interchanged, which of the following Ao er-wfmh e ot

: : the following series :
will be the sum of the first and the second
digits of the third highest number ? ik s s il
(A) 9 BY7 (C)6 (D)8 (A) 81 (B)123 (C) 156 (D)49
SPACE FOR ROUGH WORK
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Directions : In Questions No. 37 & 38,
two/three statements are given followed by
two/three conclusions respectively. You
have to consider the statements to be true
even if they seem to be at variance from
commonly known facts. You have to decide

which o

the given conclusions, if any,

follow from the given statements.

37. . Statement I Sqmc towers are
windows.
Statement II : All windows are

38.

39.

b — ww * houses.

?e?iﬁ't III : Samel, houses are
* i) temples.
'@iﬁﬁmiunl 3

: Some
temples.
Conclusion IT : Some
towers.,
WA) Only conclusion | follows.
B) Only conclusion II follows.
(C)¢2Both conclusions I & I1 follow.
© Neither conclusion I nor [l
v follows.

Statement I _
ultimate reality by dedication to Ged
through meditation. :

Statement II  : Meditation is the
process to enrich the peace of mind.

Conclusion' I : Meditation 1s the
process o realize the God.

Conclusion 1I : Meditation does not
help to find out the Mukt of Soul.

Conelusion ITT : Perfect dedication to
God 18 essential to realize the
existence of altimate reality.

(A) Only conelusion I follows.

towers are

houses are

B) Onlyconclusions 11 & I follow.
C)  Only conclusions 1 and TIT follow,
D) All conclusions follow.,
Four views of a dice have been shown
below, which of the following
symbols is on the face upgmsite to the
ace having the symbol + *

T - =

= |0 0 £ = [ _ A

(A)$ (B0 (€)= (DA

: Man can find

40.

41.

43.

44.

Two positions of a dice are shown
below. If 1 is at the bottom, which
number will be on top ?

*

- - -
. - -

(A4 B3 (O8 D)5
What comes next in the series ?
Question Figures :

VANt

A 2 | <

(&) (B) (C) (D)
Which one of the following diagrams
best represents the relationship among
Delhi, Lucknow, Uttar Pradesh 7

(A) (B) ©OuP

© (©)o o ao

How many triangles are there in the
given figure 7

i

(A) 10 (B) 12
(C) 14 (D) 11
Which one of the following diagrams
represents the correct relationship
among day, week and year ?

(A) ® (0

(©) . @ O3

SPACE FOR ROUGH WORK
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Directions : In Questions No 45 to 47,
which answer figure will complete the
pattern in the question figure ?

45, Question Figure :

Answer

Figures :

5%

N

=

(A)

(B) (D)

(©)

46. Question Figure :

Answer Figures :

(A)

(B)

47. Question Figure :

7R
S

Answer Fisures :

49,

0.

Which of the answer figures is exactly
the mirror image of the given figure
when the mirror is held at MIN 7?

Question Figure :

") £ Dk

> 8¢ E

& O A%

Answer Figures: _

& < |6 <o [60 %6 <
0 D |0 B < [ [<- 6 ¢
0 2 o[98 2l [$°6 4}l < 6

(A, By (€ (D)

A word 1s represented by only one set
of numbers as given in any one of the
alternatives. The sets of numbers given
in the altematives are represented by
two classes of alphabets as in two

matrices given below. The columns

and rows of Matrix | are numbered
from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from
these matrices can be represented first
by its row and next by its column e.g.,
‘(3 can be represented by 04, 40 etc.,

vm |l & 7 ' and ‘K’ can be represented by 5!3, 75
@ ) @' ete. Similarly, you have to idenufy the
A) (B] (C) {D} set for the word ‘CHILD’
48. A piece of paper is folded and punched Matrix
as shown below in the question ﬁﬁpn:s. | 11
From the given answer figures, indicate ol11213T4 516171819
how it will appear when npt:nt:d. s CIDIEIElIG sTHIKTLTTIN
Question Figures : iy _ TTFIGICIDIE 6|1 [N[H[K|L
I : 2[D[E[F[G|C 7 [K[L|T[N[H
v JIE|F|GJC|D BIL|I{NIHIK
= 4|G|C[DI|E[F o [N[H[K[L]T
ONEVWEr BRIGREes s : (A) 24,21,99, 57, 01
I: -i:- ::l -.t -;-- :- I.i -;-r -:- -h --:-l- :l' (BJ 12‘ ?g’ 991 5'1’ [”
WL | O | i | i e (C) 33,57,99,57, 0]
(Eﬂi) fB) {C) (D} (D} 41, 79, 99, 57, 11 o

SPACE FOR ROUGH WORK
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Part-B
GENERAL AWARENESS
51. Reduction of nitrates to ammonia can 59. For which language included in the
be achieved through one of the : Indian Constitution, the Jnanpith
fillm‘fing mffcm]?ds: g g Award has not been given upto 2011 ?
in alkaline medium usin - Ay
Dﬁ\’ﬂl'dﬂls EHD}'. ) (J"-"L} SﬂﬂSk]'Et. (B} Slﬂdhl .
(B) E n;.utralu medium  using (€) Kashmiri (D) Konkani
Devarda’s alloy. . : 60. Who is the first British Author to win
© Em?é:;‘?;"auo? i the: Man Booker Prize for fiction
(D) in npeutral medium using twice ?
Cupnic oxide. (A) Peter Carey
52. The Red Data Books published by the (B) J.M. Coetzee
Il}terﬁational Ugio}t}l or (limﬁservaunn (C) Hillary Maritel
tur T B
e | e, TSSORRES (D) None of the aboye
(A) Biodtive{*sit}' parks and &"-Ilfllﬂ hﬁ; 61. Which one of ghe following is
e i ronglypetedd
(B) Centres of origin of cultivated . Country Currency
lants. o (A) Japan Yen
(C) Centres li:]f ) ﬂngl;-ltn bif' all (E} Ifan Rand
economically important plants. 2
(D) Threatened yspenges of plants (C)* Bangladesh Taka
and ammals. | (D) Bhutan Ngultrum
53. Grits of sewage are removed in 62. The two South American countries,
A) Grit chamber which are members of the
Detritus tank Organisation of Petroleum Exporting
Skimming tank Countries (OPEC) are
Trickling filter A) Ecuador and Brazil
54. Environmental impaet assessment Ecuador and Bolivia
was first formally established in 1969 C) Ecuador and Venezuela
in which country ? D) Venezuela and Brazil
EA United Kangdom : : .
By Ulnited States 63. Who is-_the Chairperson of —the
C) Erance National Green Tribunal ?
}D Netherlands Eg Iédaﬂi(ang:}g( Katju
55.. The mest affected sulphur contamnin walan urnar
am?:;;--a@:iddby P::N is[JI l ) . C) Satyananda Mishra
%A Cyrteine %B; Methonine (D) K.G. Balakrishnan
" #ﬁ Pfﬂliiwu -4 D Gfbllﬂ";fﬁ 64. Which is the capital of Mali ?
. o won e vomen usiralian (A} M()pti (B) Barmako
en Singles Title in 2013 ? . Y
?&p Serena Williams (©) Caio () Nairobi
Victoria Azarenka 65. Which was the first film of Jaspal
C) LiNa Bhatti ?
D) Sharapova (A) Power Cut
57. The first non-Englishman elected as (B) Mahaul Theek Hai
Etulﬁ:ﬂrz?m :sf the International Cricket (C) Thank You Jijaji
A) Cydle Walcot (D) None of the three above
B) Gary Sobers 66. Who was the first recipient of the
C) Imran Khan “Bharat Ratna”™ Award posthumously ?
D) Sunil Gavaskar ’ (&) K.Kamarai
58. ich of the following has zero ; J .
D (B) Lal Bahadur Shastri
electron affinity ?
A) Oxygen EB% Fluorine (C) M.G. Ramachandran
C) Nitrogen D) Neon (D) B.R. Ambedkar
AD 2013 12 215QJ 1
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67. An urigation project is categorized as
a major project if it covers a
cultivable command area of
(A) less than 2,000 hectares
(B) 2,000 to 10,000 hectares
(C) above 10,000 hectares
(D) all the above

68. High powered money is
(A) Banks reserves at Central Bank
(B) All loans and advances of banks
(C) Money held by banks
(D) Currency held by public and

reserves with the Central Bank

69. Hardening interest rate means
(A) interest rate is remaining sticky
(B) interest rate is very low
(C) interest rate is increasing
(D) interest rate is falling

70. “Dumping” is a situation when the seller
(A) supplies more than the demand

for products in the World Market.

(B) supplies more in the Domestic
Market.

(C) sells a commodity at a lower
price in the World Marketand
charges a higher price in Lhe
Domestic Market.

(D) sells a commodity at a higher
price in the World Market and
charges a lower price in the
Domestic Market

71. Which one of the following is not a
function of Election Commission ?
(A) . Allotment of symbols
(B) TFixauonef election dates
(C) Maintaining faimess of election
(D) -Selecting the candidates for

eleetion

72. ‘State s 2 necessary evil' is
associated with
(A) Individualism
(B) Idealism
(C) Marxism
(D) Constructivism

73. The programme of ‘Operation Flood'
was concentrated on
(A) increasing irrigation facilities.
(B) flood control.

(C) increasing the milk production.

(D) increase the flood grains
production.

AD 2013
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74.

75.

76.

29, %

78.

79.

80.

81.

Which of the following 1s not

associated with Marxism ?

(A) Dialeclical Materialism

(B) Class Struggle

(C) Welfare State

(D) Surplus Value

Article 324 of the Indian Constitution

deals with the

(A) im osition of President’s Rule
tates.

(B) pmntme:m ﬁ{ Finance
ommission. &
(C) powers a ns of the

hief Election €ommissioner.
(D) functions -:-'f’llm Union Public
Seryice C onmSsion.,
The [nuriﬂer of the Lodi Dynasty was
(A) gBah lol Lod)

(B; andar Shah Lodi
il Khan Lodi

"(.m iﬁra'hum Lodi

¢ Gandharva School of art i1s also
wn as the
(A) Buddhist-Roman art

(Greco-Roman art
Greco-Roman-Buddhist art

The Bolshevik Revolution of Russia

symbohized following :

(A) coming of the Communist Rule

(B) establishment of Republic of
Russia

(C) establishment of Democracy in
Russia

(D) overthrow of Romanov Dynasty

Which General, who commanded the
British forces against the Americans
in their War of Independence later
became Governor-General of India ?
(A) Dalhousie

(B) William Bentinck

(C) Wellesley

(D) Commwallis

Who was the first President of the All

India Trade Union Congress (AITUC) ?
(A) C.R.Das

(B) V.V.Gin

(C) Lala Lajpat Rai

(D) Sarojimi Naidu

If there is a deadlock between Rajya
Sabha and Lok Sabha over an
ordinary bill, it will be resolved by

A% The President

B) The Council of Ministers

C% The Joint Session of Parliament

D) The Supreme Court

' (Ig‘{ Dravidian-Roman art

215QJ 1
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82.

83.

85.

86.

87.

88.

89.

90.
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According to Ferrel’s law (Coriolis

Force) winds change their direction

(A) Towards left in Northern
hemisphere and towards right
in Southern hemisphere.

(B) Towards right in Northern
hemisphere and towards left in
Southern hemisphere.

(C) Towards right in both the
hemisphere.

(D) Towards left in both the
hemisphere.

Which one of the following

atmospheric layers absorb ultraviolet

rays of the sun ?
(A) Troposphere ) Siratosphere
(C) Ionosphere ) Ozonosphere
The drainage pattern developed on
folded sedimentary rock is termed as
(A) Trellis EE} Dendritic
(C) Radial D) Deranged
Which one of the following is not a line
of demarcation between two countries ?

A) Durand Line

) Mac Mahon Line

(C) Plimsoll Line
(D) Maginot Line

Water otential remains lowest | tgl
ater plants

Wﬂﬂdr plants

Succulents

Halophytes
The free living bacterium in the soil
which increases the yield of rice is
(A) Rhizobium (B)" Azotobacter
(C) _Acetobacter (D) Anabacna
The human body’s largest blood
'-fﬁS}St‘lIS

ﬁ;gnﬂn artery
%B} Aorta 5
(€) « Renalartery
(DY Coronary artery
In human body, which one of the
following hormones rﬂ.?ulales blood
calcium and phosphate "

Glucagon v
Growth hormone
Parathyroid hormone
(D) Thyroxine
Frontal cyclones

characteristically in
(A) Equatorial region

) Tropical region
C) Mid-latitudinal region
(D) Polar region

occur

AD 2013
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92,

93.

94.

96.

97.

98.

99.

100.

How do most insects respire ?
A) Through skin

§B} Through gills

%C} By tracheal system
D) By lungs

In nuclear reactions,
conservation of

5&) mass only

B) momentum only
(C) energy only

(D) mass, energy and momentum
When a particle and an‘antiparticle
come In contact with eaeh Gthc:r they
(A) repelleach other =~

(B) annihilate Ea&lbfﬁgr '

(C) go undisturbed?

(D) spingbout a L,ﬂﬂ'!fﬁon axis

Ph::rmelcclrigetie;t IS
(A) anmtanmnmua process

(BY h]hd process

there is

e (Bg eﬁi:ssmn of protons
S5

emission of neutrons

Fora particle moving with a constant
speed along a straight line PQ, the
hodograph is

(A) astraight line parallel to PQ

(B) astraight line perpendicular to PQ
( a point

(D) acircle

Which computer was the first to use
the magnetic drum for memory ?

A) IBM - 650

B) IBM — 7090
(C) IBM-701
(D) IBM - 360

Identify the FIFO (First In First {}ut)
structure among the following :

(A) Stack (B) Queue

(C) De-queue (D) Array
Aluminium is obtained by the
electrolysis of pure A/,O, dissolved in

(@ Poare B} Soue

Complete hydrolysis of cellulose gives
(A) D-fructose (B) L-glucose
(C) D-glucose (D) L-fructose

Each body segment of Earthworm is
called
{A% Proglottid

Metamere

C) Scolex
Rostellum

215QJ 1
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Part-C

QUANTITATIVE APTITUDE

A, B, P are three points on a circle
having centre O. If ZOAP = 25° and
ZOBP = 35°, then the measure of
ZAOB is

(A) 120° (B) 60* (C) 75° (D) 150°

Side BC of AABC is produced to D.
If ZACD = 140° and ZABC =
3ZBAC, then find ZA.

(A) 55° (B)45° (C)40° (D)35°
The length of tangent (upto the point
of contact) drawn from an external
point P to a circle of radius 5 cm is
12 cm. The distance of P from the
centre of the circle is

(A) 1lem (B) 12em

(C) 13cm (D) 14cm
ABCD is a cyclic quadrilateral, AB

is a diameter of the circle. If ./_’.*'k{.,ﬂ“'

= 50°, the value of ZBAD i 15
(A) 30° (B) 40° (C) 50°

|

109, The value of cos37°

110. The value of

111. The value of
cot 5%.cot 10°.col I"“éﬂ 60".c

sin 539  cot 657 .

tan 25° '°
(C) 3 (D)0
cos 60° + sin 60° _
cos 60° - sinﬁ?ﬂ“ =

(A) 1 (B N3 +2
© -@+3) WLNE-2

(A)z2 (B)1

ﬁcul 80" ent 557

iqqie "[!"ﬂﬂ:ab 0%+ 2

!
&) ﬁ ®)
3
() \E (D) :‘9[

" J'I‘.'!. In @ triangle, the angles are in the

ratio 2 : 5 : 3. What is the value of
the least angle in the radian ?

105. Two circles of equal radii touch A) T (B) R
externally at a point P. From a point ( 20 10
T on the tangent at P, tangents TQ e ”
and TR are drawn teo the eircles with © = o =
points of comtact ©Q anmd R 5 =
Erespecuvuly. The relation of TQ and 113. Ifx=acosB@—bsin®, y=bcos0 +
(EET <TR B) TQ>TR a sin @, then find the value of x* + y2,
(C; Q=2IR (D) TQ=TR (A) o (B) b’

106. When two gircles touch externally, a’ gt
the number of common tangents are () b2 (D) a*+b*
A4 ®3 (02 O] . _

107. D and CE. aj{e theB E_nid}~ oints of S%E 114. If tan o + cot o = 2, then the value of
and AC of AABC. If ZA = 80°, 1P T
ZC=35°, then ZEDB is equal to o R oy 16
(A) 100° (B) 115° _ 1&3} 6;125 hEDé t123 =
(C) 120° {D} 125° rom metre high lowers, y ﬂe

108. If Fhe inradius n_f' a triangle with %nhgel: gg,ﬁe ;'.S f;g_“ :ﬂ]; aj:ag;;l tjhﬂ
perimeter 32 e¢m is 6 cm, then the tower ?
area of the triangle in sq. cm is gh{ 125 metre EB% 60 metre
(A)48 (B) 100 (C)64 (D)% C) 75 metre D) 95 metre

SPACE FOR ROUGH WORK
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116. A can do a certain work in the same 123. Kabir buys an article with 25%
time in which B and C together can discount on its marked price. He
do it. If A and B together could do it makes a profit of I{}"f@ b}f selling it at
in 10 days and C alone in 50 days, ¥ 660. The marked price is
then B alone could do it in (A) T 600 (B) T 685
(A) 15 days (B) 20 days (C) 700 (D) ¥ 800
(C) 25days (D) 30 days 124. On the E:riﬂ c;f Eﬁndh;_:i' Jffy%mi’ Gandhi

3 ; ﬁshram eclared a 3 mcﬂunt on
can do the same work in 12 days. % 525, what is its mdrt-g,g:d cc?
How long would both of them take to (A) %700 725
do the same work ? ©) %750 'f-r;r;rq
(A) 2 days (B) 4 days e a k‘ L i

opkegper mar 'm article a
(C) o6days (D) & days price _Whlr #nc&"’a prafit of 25%.
118. Ifa=2,b=23, then (a° +bM ! is f"tﬂ;.t ﬁi&wrﬂg Lt:rl.un discount, the
1 1 1
(A) ST {B)ﬁ (©) 51 {D)-i%- mﬁjlt ;éﬂuces (o I'a'i% The discount

119. The smallest positive integer which - v Hpctﬁm f .
when multiplied by 392, gives a e WA) 12-;*::. (B) 12;5 L
perfect square is \ n W (QF10% (D) 20%

@2 ®3 (©5 ) 126 Mhe price money of € 1500 is
sA,Ban

120. A square is inscribed in a '..-H'C]L in such a way that 4 times the share
radius 8 cm. The area of the square |$"’ of A 1s equal to 6 times the share of
A) 16 B, which is equal to 3 times the share
EB; 64 :}iﬁ z:: of C. Then A’s share 1s
(C) 178 square om (A) T 400 (B) %600

121. The | big '_ possible circle is 127. Divide 81 into three parts so that %of
inscribed:m a rectungle of length l i
16 cm and bréadth 6 cm. Then its ]“,; of 2™ and g of 3" are equal.
area is -

o .2 (A) 36,27,18 (B) 27.18,36
(). xpem (B) dm:cm (C) 18,27,36 (D) 30,27,24
(C) Smem? (D) 91 cm? , ) |
122. 12 men construct 1.5 km of road in AZb: En;u{[:al}:d ?ﬁaeﬁoixgsal an:{;rwiz;l bsﬂquare 4
zfc:'i};sd.s.?;i men will construct 12 km (A) thIEE: times
(B) four times
(A) 20 days (B) 24 days (C) same
(C) 28 days (D) 38 days (D) none of these
SPACE FOR ROUGH WORK
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129. Out gﬁlf ‘;03(';‘?}'20511: a Cila’fﬁ, average 136. The expression x* — 2x* + k will be a
weight o is g and the average -
weight of the resaining is 56 kg The perfect square when the ;falue of I; 1s
an.]r]erage weight (in kilogram) of the (A) 1 (B)2 [C)E {D}E
whole class is
FRSES WSE (G0 (e 137. If 3x — 3 = 6, then the value of

130. A CD was sold at a profit of 1 25%. If i
it had been sold at a profit of 15%, it % _5 ® & , :
would have gained him ¥ 10 more. (A) 2 fB] 4 4 1€)6, (D)8
The cost price of CD is (in ) 138. Ifa+b+c= ‘thewalue of
(A) 450 (B)500 (C)400 (D)550 a+bk 2b h Y

131. Rakesh got 273 marks in an C _-:.’-_F-a+ a
examination and scored 5% more A W ' .
than the pass %. If Lokesh got 312 ( ) gak t—“;B')I =1 muﬂf
marks, then by what % above the 1394 If x # =4, find the value of x3'+“§
Eﬁiﬂn::?;k : did he pass the d W & l ’"l

o’ )
(A) 8 (B)s5; (C)le (D)les
(A) 20% (B) 27% . 2 2
(C) 25% (D) 15% 140. If x = 3 + 24/2, then the value of

132. Anil calculated that it will take 435 1 '
minutes to cover a distance of 60 km [\E ———) is
by his ﬁar Howdlc-ng wﬂfl :]t take to x 5 7
cover the same distance if the specd (A) 1 (B) 2 (C) 242 (D)34/3
of his car is reduced by 15 km/hr 2 CIf 4’ -

(A) 36 min (B).55.38 min 141. If ‘a’ be a posmv;: number, then the
(C) 48 min (D) 40 min least value of a+ -is

133. A égadin }f};]ﬂmm long moving at a |
sp O IT. crosses a {rain I BIO —
120 metres  long coming from B ) (e g
ngjé?qlstgéuLlc:;:n i G sec. The speed 142. If a =0, b # 0, ¢ # 0, then the
0 & _m In Is ti o b=
(&) 60km/hr (B) 82 km/hr. ;?lt;a 1:1;1; mby ¢ = 0 represents a
(C)  70kmhar. (D) 74 kmvhr. 7 P .

134. Two equal sums were borrowed at () ¥ =
8% simple interest per annum for (B) x-axis
2 years and 3 years respectively. The (C) y-axis
rn:;i:hﬂ'erence in the interest was ¥ 56. (D) none of these

e sums borrowed were :
143. The sum of the ages of Puneet and
({P:“) ; ggﬂ (g} g 700 his father is 45 years and the product
(©) 0 (D) 350 of their ages is 126. What is the age

135. The average of the first five of Puneet ?
multiples of 7 will be (A) 3 years (B) 5 years
(A)14 (B)21 (C)17.5 (D)24.5 (C) 10 years (D) 45 years

SPACE FOR ROUGH WORK
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The following graph shows the expenditure
incurred in bringing a book, by a magazine
producer. Study the graph and answer
Question Nos. 144-146 :

144. What should be the central angle of
the sector for the cost of the paper ?
(A) 57.6° (B) 544°
(C) 56.7° (D) 54.8°

145. If the miscellaneous charges are
< 6,000, the cost of paper is
(A) T 12,000 (B) 18,000
(C) % 15,000

146. If 5500 copies are published,
miscellaneous expenditurcs an‘i@'m
to T 1,848, find the cost price of |

copy.
(A) T 1040 (B) % 9.40
(C) %1240 (D) % 8.40

The pass pereentage for an examination in
a school 1s,shown in the adjoining bar
diagram, for males and females separately
for four vears. Study the diagram and

answer Question Nos. 147 and 148
. ¥ 1|'

(D) 24,0004 ':

147. The maximum percentage of students
passed in the vear is

(A) 2007
(©) 2009

(B) 2008
(D) 2010

148, The year in which the difference of
pass percentage hu,u-.rgu,l male and
female is maxnnulﬁ s %

(A) 2010 tﬁ" "2009
(C) 2{1_@};: WD) 2007

’.J

The ‘ﬂljﬂm h;asﬁ‘i&,nm shows the average
pmﬂtﬂi money received by 60 students for a
‘@an of one month. Study the diagram and

% ansyer Question Nos. 149 and 150 :

20 +
16

No. of Studenis

0 -
50 80 110 140 170 200
Pocket Money (in T)

149. Maximum. —number of students
received pocket money between ——

3"‘“: ™ Z [ e (A) 50-80 (B) 140-170
HIR Z B2 Femate (C) 80-110 (D) 110-140
3
5171 g
g o g 150. The number of studenis who received
01 % % pocket money upto T 140 is
2007 2008 IW; i [A} 2{} {B} 32
_van (C) 48 (D) 56
SPACE FOR ROUGH WORK
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Part—D
ENGLISH COMPREHENSION

Directions : In Question Nos. 151 to 153,
choose the word opposite in meaning to the
given word and mark it in the Answer
Sheet.

151. Fabricate

\{5} Unearth (B) Construct
C) Demolish (D) Renovate
152. Gregarous

(A) Sociable (B) Societal

C)~ Unsociable (D) Solitary

153. Pragmatic :

(A) Indefinite (B) Vague

(C) Optimistic (D) Idealistic

Directions : In Question Nos. 154 o 158,

four alternatives are given for the
Idiom'\Phrase underlined. Choose the
alternative which best expresses the

meaning of the Idiom\Phrase and mark it in
the Answer Sheet.

154. To be above board.
(A) To have a good height
(B) To be honest in any bums
deal
(C) Having no dehls,
(D) To try to be beautiful

To cry wolf.

(A) Tolisteneagerly

(B) To give false alarm
(C) To tum pale

(D) To keep off starvation

156. He Iﬂm wrong side of seventy.
(A) more than seventy years old
{'E; less than seventy years old

(C) seventy years old

(D) eighty years old

155.

157. To have an axe to grind.

(A) apnvate end to serve
(B) to fail to arouse interest
(C) to have no result

(D) to work for both sides

To drive home.

(A) To find one’s root

(B) To retumn to place of rest
—€) Back to original position

(D) To emphasise

AD 2013
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Directions : In Question Nos. 159 to 168,
a sentence/part of the sentence is
underlined. Below are given alternatives to
the underlined sentence/part of the
sentence at (A), (B) and (C) which may
improve the sentence. Choose the correct
alternative. In case no improvement is
needed, your answer is (D).

159. The climate of Kamatakd is cooler
than Tamil Nadu. :
(A) iscoolerto T T 0
(B) iscooler than of 4
(C)  is cooler than that'of
PT  Neimprovement

160. The Tsunami
2 cﬁnjcr:t. '
4 ), su iffered from
,[B] suffered under
(C) . suffered in
(D)  No improvement

victims suffered of

161. | gave to Sana the keys.
(A) 1gave

(B) I gave to the

(C) 1gave the

Dy No improvement

162. If he smokes less he might
his cough.

(&)~ If he smoked less he would get
rid of his cough.
If he had smoked less he might
get rid of his cough.
If he smokes less he might
have got rid of his cough.
No improvement.

et nd of

(B)
(C)

(D)
163. He compensated the loss to me.

(A) He compensated the loss for
me.
(B) He compensated me to the loss.
\_/(_(;). He compensated me for the
loss.
(D) No improvement.

215 QJ 1
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164. As employees, we are accountable

for our stakeholders.

(A) accountable with

(B) accountable to

(C) accountable against

No improvement

165, Recently he had
mediclaim policy.

He had recently insured for
(B) Recently he insured for
(C) He insured recently for
(D) No improvement

insured for a

166. Everyday, we usually had lunch at
1.30 p.m.
A&7 we have had usually
(B) we have usually
(C) we usually have
(D) No improvement

167. All nations must first

agricultural strong,

(A) become agriculturally s!mng

(B) become strong agriculture
become agriculture strong

(D) No improyement

168. An orangutan’s intelligence is_ as
superior to that of man.
. (A)~ ismore superior (o
(B) “issuperior Lo
(€) . is superior than that of
(D) No improvement

Directions : In Question Nos. 169 to 175,
out of the four alternatives, choose the one
which can be substituted for the given
words/sentence and  indicate it b_t,r
blackening the appropriate oval [-] in
the Answer Sheet.

169. That which has a double meaning
(A) doubtless

(B) , uncertain
controversial
(D) ambiguous
_2]5 QJ1

b Ecaﬂ I

29

170. Incapable of making errors
b(f,}/fnfallible

(B) incorrigible
(C) 1mpervious
(D) inexplicable

171. Govemed by a sense Dfdul_',-'
(TW conscious

(B) sensible r.

(C) intelligent .

_/(15) {:ﬂnsmcntmuml. »l' P

172. The detHimv whﬁn state records
and dﬂhﬂﬂml‘r&dﬂ' preserved

(A) museum (B) library
\;@ emporium. (D) archive

1?3 “That which is no longer fashionable

OL in use

(A) unused M ancient

(C) obsolete (D) old
174. Murder of a king

(A) homicide (B) fratricide

ICY regicide (D) parricide

175. A place where birds are kept
(A) Aviary (B) House
(©) l}ﬁuaﬁum (D) Apiary

Directions : In Question Nos. 176 & 177,
four words are given in each guestion, out
of which only one word is correctly spelt.
Find the correctly spelt word and mark
your answer in the Answer Sheet.

milennium

176. (A) (B) mullenium
(C) milleneum (D)  millennium
177. (A) ocassion (B) occassion
y} occasion (D) occation

AD 2013
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Directions : In Question Nos. 178 to 187,
you have a passage with 10 questions.
Read the passage carefully and choose the
best answer to each question out of the four
altenatives and mark it by blackening
the appropriate oval [@@®] in the Answer
Sheet.

The stunning Baltimore Oriole 1s a
common summer visitor to eastern and mid
western  déciduous woodlands,
neighbourhoods, and gardens. Baltimore
Crioles winter in the tropics., About 7
inches in length, the male Baltimore Oriole
has a black head. throat, back and win
Its breast, stomach, afid runip are i
orange. It also has an orange patch on the
top of each wing and white wing bars. The
tail is mostly black with orafigé fringes
The female 15 dull orange throughout.

Baltimore Orioles range throughout

the eastértrand -mid western United States, ~

and can be found as far west as the
Dakotas. At the westem edge of their
range, Baltimore Orioles may breed with
the Bullock’s Oriole (They were once
considere
name Northern Oriole).
Baltimore Oricles build
pouch like nests that hang down lr%
h.gm:hna They usually test ligh in
ees, but ofien come down to lower
heights, fMashing bright orange and black
feathers to delighted obsérvers Active and
acrobaltic by nature, Baltimore Orioles may
even feed upside down al times
Baltimere Quioles eat insects and
berries. They can easily be aifracted to
gardens by nathng orange wedges to - tree
branches. Baltimore Orioles are also
known to feed at hummingbird feeders and
sapsuck&r wells ————

178. The othér name of Baltimore Oriole

4;5:5“ Bullock’s Oriole
(B) Baltimore’s Oriole
(C) Northern Oriole
(D) Southern Oriole

179. The nest of the Balumore
Oriole
(A) 1s1na tree cavily

(B) stands upon a branch of a tree
. /LG)’ hangs from a branch of a tree
(D) is usually low in the branches

AD 2013
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180. Which of the following is the closest
in size to a Baltimore Oriole ?

(A) The size of a half-scale

(B) A little more than a half-scale
(C) A little less than a half-scale

(D) A foot ruler

181. The Baltimore Oriole spend the

winters in the

\.._.-"fﬂ? Dakotas
(C) Tropics

(B}‘ Carolinas
(D) Weserts

182. What is the l:'.ﬂl(_m:[; &ﬂfflm female
Baltimore Oriole 775 T
(A) Bright Orange’ A"
(B) LightOr ange V-
(C) Du]lﬁt

IS l‘l
(27" Mihite

183. Which Qf the following does not
‘atlract ’ﬂ:lt' Baltimore Oriole ?

[K Oranges
- (B), Hummingbird feeders
Sapsucker wells

Sunflower seeds

| '[ 84. The Baltimore Oriole can be found as

far west as
'\ {A) North and South Dakota
(B) The Carolinas
(C) California
(D) Baltimore

185. Which of the following is not ftrue

about the Baltimore Oriole ?

(A) They feed upside down
sometimes.

(B) They may breed with the
Bullock’s Oriole.

(C) The Baltimore Oriole is

uncommon in the U.S.
}Dﬂ The Baltimore Oriole has a
- black throat.

186. Where would 1 probably not find a
Baltimore Oriole ?
(A) High in the trees
(B) In gardens and neighbourhoods
(C) Deciduous woodlands
{'_.];D/ The Sahara desert

Which of these colours is not found
on a Baltimore Oriole ?

187.

A) Purple ) Orange
EC; "I-“?i?rjte J(’g} Black
215QJ1
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Directions : In Question Nos. 188 to 192,
some parts of the sentences have errors and
some are correct. Find out which part of a
sentence has an error and blacken the oval
[@®] corresponding to the appropriate
letter (A, B, C). If a sentence is free from
error, blacken the oval corresponding to
(D) in the Answer Sheet.

Mohans' eyes / reflect a hope
(A) (B)
for a better future in Microsoft.
(€)

188. /

/

No .
(D)

189 He went to Mumbai / with a viet /
: @ B
to secure a job. No error.

© T D

The Headmaster with all his senior
(A)
teachers havecome
(B)
to attend the meeting, / No :;;R)r/
(C) ~D)

—190.

The teacher said that
(A)
the building adjacent with his house
- /
(B)
needed repairs.  No error.

© D)

191, I

Grapes | cannot gathered

W ®

from thistles. ; No error.
© (D) .

192. /

215QJ 1
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Directions : In Question Nos. 193 to 197,
sentences are given with blanks to be filled
with an appropriate word(s). Four
alternatives are suggested for each
question. Choose the correct alternative out

'of the four and indicate-it by blackening

the appropriate oval [@@®] in the Answer
Sheet.

193. Mr. Murugan has been in this college

2010.

(A) for (B)4 since

(C) after (D), before
194. We attended a discourse.

(A) spiritual (B) spirituous

(C) spirttmality « (D) spintually
195. The wvalley is known for its

growth of vegetation.

(A) luxurious (B) luxury

(C)y luxuriant (D) luxuniously
196. Satyajitray’s films all

barriers of caste, creed and religion.

They are universal.

(A) ftranscend (B) transcends

(C) trancend (D) transend
197. I could hardly recognize him 1

saw him.

(A) after (B) but

(C) and (D) when

Directions : In Question Nos. 198 to 200,
out of the four alternatives, choose the one
which best expresses the meaning of the
given word and mark it in the Answer
Sheet.

198. Condone

(A) Forgive (B) Support

(C) Forget (D) Defend
199. Analogy

(A) Difference (B) Comparison

(C) Addition (D) Deletion
200. Allure

(A) Extol (B) Excite

(C) Entice (D) Elicit

AD 2013
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
IAT o &I Taty

‘Directions © Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each case,
you are required to select the one that correctly
answers the question or completes the statement
and blacken @] appropriate oval A, B, C or D
by Black/Blue Ball Point Pen against the
question concerned in the Answer-Sheet.

(For VH candidates corresponding oval will be
blackened by the scribe.)

The following example illustrates the manner in
which the questions are required to be answered.

Example :
Question No. ‘()" —

Out of the four words given below, three are
alike in some way and one is different. Find the
ODD word :

(A) Gl
(B) Boy
(C) Woman
(D) Chair
Explanation : In the above example, the camect
answer is ‘Chair’ and this answer has been
suggested at ‘D’. Accordingly, the answer is 10
be indicated by blackening [@] the oval by Black/
Blue Ball Point Pent in column ‘D’ against
Question No. ‘0" in the manmer indicated below :

Question No. “O
(B]

T

[A] €] (@]

There is anly one comrect answer to each question.
You should blacken [@] the oval of the
appropriate column, viz., A, B, C or D. If you
blacken [@] more than one oval against any one
question, the answer will be treated as wrong. If
you wish to cancel any answer, you should
completely erase that black mark in the oval in
the Answer-Sheet and then blacken the oval of
revised response.

You are NOT requifed to mark your answers in
this Booklet. All answers must be lndlcal'ﬂd in the
Answer-Sheet only.

Frder . Ui vRe e USSR FEA & 9% 97
AT Sl [l HaA GeT U & | Uedeh 590 o 10!
ferelt we St AT & AT W T TR IO el S
T W 3 A I 7 I AvSR
H A, B, Cmnaﬂmﬂﬁﬁ*’rmmﬂwﬁ
HA (@] FATE | .
@mmﬂ%mm
&ie fara s 1)

e e g «E{W'ﬁ'r"ﬁwﬁf“mﬁmm
fosmm &

JQIETUT ;

u'ﬁq,*ﬂ
ﬁiﬂ%ﬁ;ﬁﬂﬁﬂﬁﬂﬁ#ﬁhﬁ%ﬂﬁ&%m

lﬁw E{?‘VTWEFTE‘ | =% 21 e & oo

GECA
GECa)

(C) =i

(D) i
TETHIT : T &SRB H WE IO AT ¥ AN
WIW'D AGAATNE | A W H ] H
APF Fiew ‘D F AVSET G H FeAe die-
Uig=e U ¥ ol el (@] Feeh St A aars fafa
& s fear =
e |,

[A] [B] [C] (@]

Wedeh WY 1 Shelel Ush @1 HEl Sa7 € | SR afEa
FHieT A4 A, B, C 31 D & 3SR @H Ht Hiell
(@) %=1 & | 3 3y fEet woT & aE T H s
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